WWW.ORKOTADIGITAL.COM

VHX-70P-GTO

Dakota Digital VHX Instrument Installation

Your new VHX-70P-GTO kit includes:

For 1970-'72 GTO

VHX Display

| Quad Mounting Tab
B Tach Mounting Tab

(1) 6-32 X 7/8" Pan Head Screw
(2) 8-32 X 1 1/4" Pan Head Screws
(2) 8-32 Nuts

e

] =

=

12" CAT5
Cable

THE FUTURE or

VHX

Installation Manuals

EEEEEEEEN

oy
Universal Sender Pack
. 36" CAT5 Cable
Installation

Control Box

1. Remove the stock gauge cluster from the dash and save all hardware for reassembly.

Manual # 650468



2. Remove the stock gauges from the bezel. The only items to be reused are the original front bezel
and the hardware to mount the gauges; the other pieces can be set aside. Now is a good time to
clean or refinish the bezel.

3. Secure the Tach mounting tab to the VHX system’s Tachometer as shown in the picture using the
provided 6-32 X 7/8” screw, then mount the Tach to the bezel on the right side using the factory
hardware. There is adjustment within the bracket; test fit to the bezel before final torqueing.

4. Secure the Quad mounting tab to the bottom left mount of the Speed and Quad portion of the
VHX system as shown in the picture using one of the provided 8-32 X 1 1/4” screws and nuts,
then mount the gauge system to the bezel using the factory hardware. Again, there is adjustment
within this bracket as well; please test fit to the bezel before final torqueing. Also, you will use the
remaining 8-32 X 1 1/4" screw and nut to mount the bottom right tab (from front view) of the
assembly to the Tach’s mounting tab as shown with the dashed arrow.

Manual # 650468



6. Before the assembled cluster is installed back into the dash, connect one end of the 12" CAT5 cable
to either jack on the Tach and the other end to the Speed assembly, then connect one end of the 36"
CATS5 cable to the remaining open jack on the Tach. Use caution when routing the other end of this
cable to the control box mounting location.

7. Re-install the bezel into the vehicle using stock hardware and refer to the main manual for
wiring instructions to complete the VHX installation.

—Dakofta Digital—

4510 W. 61° St. N., Sioux Falls SD 57107
Phone: (605) 332-6513 Fax: (605) 339-4106
www.dakotadigital.com
dakotasupport@dakotadigital.com

Manual # 650468



